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Read the following instructions carefully and do accordingly (fFrsfafie friiat serema -~ a2

TraAILE (F14)

i) Group - A contains 22 questions with 44 marks and Group - B contains 4 questions with 16

marks. (3 - e 33 5 273 88 T93 93z 2 - e 8 © ars v 793 TTR)

i) All the questions are compulsory (%= AtsR Tea w4 FRfF0)

iii) Write the answer of each question in the specified space (&% 2z T 7 . 7= =)

iv) Papers of rough work are to be attached with answer sheet (wmmﬁ%wnmm LG HIS)
Group — A (2 x 22 = 44 Marks = - fTet% (2 X 33 = 88 799)

1. Fill in the gaps (<72 7= F9) ¢ 2x10=20

(i) The H.C.F. of 90 and 70 is ' <
so€qo YIS T ———Mm——— |

(ii) Total number of composite numbers lie in between 89 and 98 is
bd G2 vb O3 W& SREFS @ A o WA S —————

(iii) +0.11+0.101=0.333

_____ + 0.3 + 0565 = 0999

(iv) 4 weeks = hours.
EASE = ——— 1 |
(v) 3rightangles = degree.
© T = ———— Tl |
(vi) The lenght of a tabi= i= * m and the breadth is 80 cm. Its perimeter is m.
G35 R ol of @R &% vo iz 1 32 AR = ———f
(vii) The smallest odd composite numberis
Foew ety (@i w2 ————|
=T linak]
wm}gfgengZ___“__
T T R
— == H—=—————

9 L R
The simplest f mef—z']S
(ix) The simplest fo 504 |
8L
e>8

(x) The measure of one angle of a square is degree.
I CFER GFB (@R T ———— T |

G HFeTod W ] ———— |




2. Each of the following questions has four alternative answers, among which only one is

= : " 1 : ' :
- correct. Underline the correct option. — mark will be deducted for each wrong answer.

2
s &S 2t viaf w2 fiem S oreat wity, aom 1 @3 W e e 1 90T Seatr S e we

ﬁ%ﬁw@mwimaﬁa‘tml 2x12=24

(i) The sum of the prime numbers lie is between 10 and 25 is
Y0 G} ¢ GF Y] TRFS e RAeEE @
(a) 60 (vo) - (b) 74 (a8) (c) 83 ~9) (d) 89 (v»)
(ii) If 45 « 23 — 28237 = 17686, then the digit in + marked place would be —
A 8e*30 — Y309 = YAubl TW, OA + B Zea o=l w7 —
(a) 6 (v) (b) 7 (2) (c)8 (») (d) 9 ()
(iii) If 83040 toys sold during 12 days of fair, the number of toys sold in one day was -
I @@ G >3 Fm Woso%mﬁ@meﬁwwwg%mmﬁﬁm%mmw -
(a) 3040 (9oso0) (b) 5304 (¢so0s) (c) 5920 (&5x0) (d) 6920 (vs20)

2ot 5
i i ——,— and — js—
(iv) The largest fraction among 3212 s

=
o

m‘] )

5 ¢
‘E < T e TAAT = —

B D) gl el

k. 95l 1 A% .
(v) Raj spent o of his pocket money on books, g"! on dress and rest on food. If his pocket money

is Rs.750, then his expenditure on food is

wwmﬁa = w*rai e cmaseﬁwwwwm M7 O ATFoA 2o Bl 77,

IRCA IRMF OIF A3 oifz?m e —

(a) Rs. 350 (weo Br) (b) Rs. 375 (wa¢ Brt)

(c) Rs. 400 (800 5i=1) (d) Rs. 450 (geo 5r=)
(vi) After 5 years the sum of the ages of Sita and Gita will be 48 years. 5 years ago the sum of
their ages was

¢ I23 77 Aot ¢ N IR 748 IR 8y I97 | ¢ IZF TS OIF IT0F 7S o —

(a) 28 years (v 723) (b) 38 years (ov3=3) '

(c) 43 years (89 3=3) (d) 48 years (st 37=3)

(vii) In the adjacent figure, KITE is a square. Then A ITE is

Az ora KITE @3 3oftsa 1 o=wa A ITE 75 —
(a) an equilateral triangle (<= = fres)
(b) an isosceles triangle («=fb TwfEarE fTge)
(c) a scalene triangle (<= Revar Tge)
(d)vnoné of these (wafem @mBE=T) - K ,

(viii) The difference between the predecessor an.d the successor of one million is
s fifFEe @z oJ@9) ¢ 2739 AL wwE 74 - _
(@ 1) (b)2(2) (c) 1,000,000 (3,000,000)  (d) 1,000,001 (s,000,60%)



(ix) If 5 apples and 4 oranges cost Rs.48 and 3 apples and 2 oranges cost Rs.28, then the cost of
anappleis

At &6 wiee @ 8B FwEm wr 8v B W3R off wiwerE @ 6 Wz s xb- Bre 23 wtate el it i 2
(a) Rs.4 (8 Gre1) (b) Rs.6 (v Trer) (c) Rs. 8 (v r=st) (d) Rs.10 (3o Grat)
(x) 6 is muitipled by 7 at first. The product is then added to 6. After subtracting 3 from the sum, the
result is then divided by 3. Then the answer is
Q-CﬁqmﬁWGQWWI@WWGoNﬁWWI CAISTE (AT o TATRIS 374 21 4nforss o fca
S5 ! 29 | O TRt zE

(a) 15 (s¢) (b) 13(s9) (c) 11 (53) (d) 9 (5)
SO ag . 0
() 10 1000 Yo Y000
(@) .75 (.ae)  (b) .075 (.04¢) (c) 750 (aeo) (d) 7500 (acoo)

(xii) In a festival, 75% of the total guests like rasgulla. If the number of guests liking rasgulla is 60
then the number of guests are

(1A 9 TOMA 9¢ % Gfeld ToE “1%7 a1 A TSI Yiew e Osw SfefiE Aoy vo 73, wiaE
wfiefers Aean 2 —
(a) B0 (vo) (b) 80 (¥o) (c) 100 (s>00) ©(d) 120 (3%0)
Group - B (16 marks) ‘<’ faetal (sv 7%7)

3.(a) Find the missing number : : fefine Wit 9 << : ) ; 2
“ _ q
5189 ¢ |s
6 8|7 v [v]a
4517 78 BEITAR A
Ans. :

(b) The following numbers are written according to some rule. Following that write the next two

numbers. : 2
- Areea e gofd fra o et wiee | R frs sEpTee 9t omad) sieamfe @ |
5,1,1.6,2.3, , =3 :
€, 5, 0.9, .9 S
4. Simplify : 3.8 + {6.2 - (0.025 of 24 - 0.3)} ' 4

T T 3 o+ {€.3 — (0.03¢ GT 38 + 0.9)}




5. The step by step solution of a problem is given below. State the problem in minimum number of
words : (a3 sfafsss Tmra AT dleiof Brerd T 771 | AT I XMW AL B0 AL 7 ) ¢ 4

a3 AEfen e aigd wel = 33 ecofifE

Water capacity of a bucket = 12 [ 550 ml
' = 12550 mi = y3ecofifi
Number of buckets used = 4 e AR R =2
Water used = 12550 ml x 4 = 50200 m/ o TS ZETE =5 s¢co T X 8 = ¢oyoo R
=501200 mi = coPrans. fil
Therefore, Mahim's family uses 50 [ 200 ml T g S—— T T
water for bathing everyday. soofifE o R 0 |
6. From the given building plan find the () —>
\ area of the drawing room. , -
oA MR '.-rﬁiasgm i ‘ Drawing room G;:gfn Je
TRy o e 3 | G am ||°
- [<—(offl) =)
I . Store Room Fﬁiuﬁf
ewm g L0

Kitchen |B2MMOOM  BedRoom el
a9 S ARG 4T ""\1:;-.'
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